(Bl oas—R)L/BE
RITE#ESR )2 7 /8L Rk E 2T B A2700

= A AEE AES BEBF | MEORE
m 50cm 5cm
1EBRFREORAR 11848 - 0.07 - PR Vs
2 BBRFREOBELE 11848 = 0.06 - thf =]
3 KXLE 25 2AE 11868 - 0.05 - R x
4| XLEFAEAE 11H6H = 0.08 = g *
5 ALt~ E 11868 - 0.06 - R FAI7ILE
6| BEBRFANHLIEE 11R48 - 0.08 = eF 3 avyy—k
1 HBFERALE 11848 - 0.05 - R x
B HEFBFEHELAE 11548 = 0.08 = fh g &
9 FHABLE 11848 - 0.04 - thf x
10| 6 AT AR 11548 = 0.04 - Rk =
NRFEMARLE 11868 - 0.06 - PR B
12| EEMAAE 11848 = 0.13 = g *
13MRFEFELDHEUIE 11868 - 0.05 - PR B
14 BEBRFHELLAR 11848 - 0.06 - thf +
15| BBRFHERLE 11848 - 0.08 - R *
16 BILEEAR 11R48 = 0.06 = Rk x
17| L ES A E 11868 - 0.05 - eF 3 B
18| dLBRiFm A E 11858 - 0.05 = bk B
19 AFRBITIEOLE 11A6H - 0.06 - R *
n 20 EHLAE 11858 - 0.06 = bk B
21 B ENE 11868 - 0.08 - g =1
- 22 B 4S5 NE 11848 = 0.08 = AP S {oB—OyFYy
?%_ 23|t KR1S2E 11A6H - 0.06 - th =
#‘ 24| ENFIXXNE 11A118 - 0.05 - HR B
o 25 REFZFARRAE 11A6H - 0.05 - S B
=3 26 REZEFARILLE 11868 - 0.06 = ik B
~ 21 RFEFARELR 11A6H - 0.05 - th =
28 EHLE 11848 - 0.06 = ik B
29 EHELAE 11H58 - 0.05 - IRER *
30 KXLE3FE 11868 = 0.06 = R x
31| KLESELE 11H6H - 0.05 - kR *
32| KXLE6FE 11868 = 0.06 - LR T-&
B AHKLEH7ELE 11868 - 0.09 - 2P =
34| DKLE A/ X E 11468 - 0.11 = R d
B RFLBELE 11A6H - 0.12 - IRtk T-®
36 dLBRIFIL A E 11858 - 0.06 = ik B
37| LERIFEAR AR 11858 - 0.06 - thR dLFvT %
38| IRFIERAR 11858 - 0.08 - BIGHR | qvs—nvkuy
9 FERFULELSLE 11848 - 0.07 - IRk +
40 BRFHISAE 11848 - 0.06 - IREFRR *
4\ HBRFEEAE 11848 - 0.08 - =o 153 avy)—k
42 BRFRELE 11848 - 0.06 = R +
43 8lLELE 11A6H - 0.08 - RiGHR x
44 mFIENE 11R48 = 0.06 - IREFRR W
45| P EEDLERNE 11848 - 0.10 - IREhR *
46| AILFELE 11H6H = 0.09 - BBEEYO 7
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(Bl oas—R)L/BE
RITE#ESR )2 7 /8L Rk E 2T B A2700

A AEE AES BEBF | MEORE
m 50cm 5cm
=} /NE 11868 - 0.11 - LR x
BILEAR 11A6H - 0.08 - EEWREA +
AFRHT A LE 1186H - 0.05 - IRigthR B
AKLEFIBLE 11H6H = 0.08 = g *
RFILAE 11858 - 0.08 - ik B
XFILRLE 11868 = 0.09 - rhak B
EHE—2E 11858 - 0.06 - b3 B
- E/NE] 11A6H - 0.07 - b 36
N WARIEAE 11868 - 0.05 - thk B
HAR4ENE 11868 - 0.06 - sk +
- ki NGE= /N 1186H - 0.06 - Rk B
?%- HARVYIRISAE 11868 = 0.05 - g =
#‘ ETFOHAE 11858 - 0.07 - i +
Hh FLE/E 11848 - 0.06 - LS t
=3 b2y VA= F/NE 11868 - 0.04 - tha B
~ i WA= /NS 11868 - 0.07 - i =1
=T D IR5 11A11H - 0.05 - R *
P &/NE 11A11R8 — 0.10 - =of 3 +
LosELE 118118 - 0.05 - thf =
FERLE 118118 = 0.07 - =of 3 =
FELE 11B118 - 0.07 - thf =
FERLE 11B118 - 0.06 - rh g =
E2y /N = /N 11848 - 0.05 - thf B
XED L5 11848 - 0.08 = b B
S ILILAE 11858 - 0.03 - thf B
b 47N 11898 = 0.07 - th =1
SEEPRAR 11H98 - 0.07 - thak B
SIEARAR 11898 - 0.06 = th *
e LN 11H98 - 0.10 - tha B
NN 11898 = 0.08 - th =
XEEAELE 11898 - 0.05 - SAESHER =3
n XEEEAR 11898 - 0.06 = R *
S ARNE 11848 - 0.08 - ik =
- RIALAE 11848 - 0.10 - #ERfHA d
BEE R250E 11848 - 0.05 - thf +
N RASAE 11848 - 0.05 = R d
#h EHE/1SOE 11A118 - 0.07 - ik k=3
=3 EHR25LE 11A118 - 0.05 - tha =1
= EBHAIFAE 118118 - 0.06 - rhak B
EHRIESLE 11A118 - 0.08 - tha =1
EHASEAE 11A11AR - 0.08 - rhak +
po 25 EAN L= /N 118118 - 0.04 - tha =
EHRTELE 11A11AR - 0.06 - rhak +
BLERRAR 11R98 = 0.08 = R o
FLEBELE 11R98 - 0.06 - thf *
EAAAE 11858 = 0.09 - thf =1
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(Bl oas—R)L/BE
RITE#ESR )2 7 /8L Rk E 2T B A2700

ol A AEE AES BEBF | MEORE
73 Tm 50cm 5cm

93BT LG 11858 - 0.07 - PR avol)—k
94 TR E 11898 - 0.07 - thf =]
95| T FERIAE 11898 - 0.07 - ik B
9% | FTrF152E 11H98 = 0.09 = g *
97 RERTSELE 11898 - 0.05 - R x
98 REHLE 11R98 - 0.06 = o +
99| RIS AE 11848 - 0.06 - b3 B
100/ R3IEAE 11848 = 0.07 = fh g +
101 | R55 A 11848 - 0.09 - R x
102 R6 5 E 11548 = 0.09 = g +
103 R7TEAE 11848 - 0.06 - eF 3 B
104 R8EAE 11548 = 0.08 = g =
105 RSN E 11848 - 0.06 - PR B

o 106|105 A E 11848 = 0.08 = Rk I A &%

107 RBAE 11848 - 0.07 - PR Az

| 108 /MEAE 11R48 = 0.07 - hREA B

53| 109 HRFERLE 11858 - 0.08 - WEfHE L%

S5 | 10 EEFILABLAR 11858 - 0.09 - WEEEREHR t

= EREEME A 11858 - 0.06 - sk +

i 112 |FEEEL A 11A58 = 0.05 = hR T-&E

% (REI:-p20 ENE 11858 - 0.08 - sk B
4| EoE 11858 - 0.08 = b B
15| FLAEELAE 11898 - 0.07 - thR *
116| REESHRLE 11898 = 0.04 = hR *
M7 S LFTRAE 11A58 - 0.04 - R x
M8 REBRTISLE 11H98 = 0.05 = R B
M BERFISLE 11H58 - 0.06 - 2P S T
120 REHRF250E 11898 = 0.06 = R x
121 FLELLE 11898 - 0.12 - thR *
122 2 FoE 11898 - 0.09 = bk B
123 FLEELAR 11898 - 0.04 - R B
124 FrFRAXE 11898 - 0.05 = bk B
125 | HERAE 11A9R - 0.08 - thk =
126 A AR AE 11898 - 0.05 - | EEEIS R R *
127 | I&F L35 11A98 - 0.06 - o a
128|PFE AN ANE 118108 - 0.08 = R d
129 it & R AE 11A9H - 0.08 - Rk B
130t &5 5 A F 11898 - 0.07 = ik B
131t E6 5 E 11898 - 0.08 - i =1
132t &8752E 11898 - 0.08 = PR B
133 BFAELE 118108 - 0.08 - =o 153 B
134 HFFELDHVIG 118108 - 0.07 = WEE i FRI7ILE
135 EFRRSHYAE 118108 - 0.09 - =oF> 3 +
136 | PIRE SHTAE 118108 = 0.09 = R T-24
137|HEYEELDHVIE 10R108 - 0.09 - PR *
138 HFIR AR 11H108 - 0.08 - #EAlAD T REE
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(Bl oas—R)L/BE
RITE#ESR )2 7 /8L Rk E 2T B A2700

= A AEE AES BEBF | MEORE
m 50cm 5cm
139 BEEIDCARE 11898 - 0.07 - R "
N 140 L 5422 E 11898 - 0.09 -| PREEFTE L3
141|idL 825 2 E 11898 - 0.04 - R x
| 142|idL BB AE 11H98 = 0.07 - thge B
i 143t B 1S AR 11898 - 0.08 - B B
2|8 144 AL B8 E AE 11898 - 0.08 - ik &
S 145 ik = A AE 118108 - 0.08 - ik =
S RPN 1A 108 - oo Y 5
| 147 st s AR 118108 - 0.08 - th =
148 | i R & i E 11H108 = 0.07 = hR x
149 | FIRRIIP S S A E 118108 - 0.06 - eF 3 B
150 KRR B EERLE 118108 - 0.08 = bk B
151 FEHAAALE 11A108 - 0.08 - s - o
152 | FiARZER& A E 11R108 - 0.10 - REEHhR +
153 EDAE 118108 - 0.08 - eF 3 B
154 I ARE R 2R 11R108 = 0.06 = Rk +
I 155 | F7 A8 I 2 B (37 A B W ek ) 118108 - 0.08 - eF 3 B
| 156 D2EVLDOAE 118108 - 0.08 = bk B
| 157|FOLE 11A108 - 0.09 - ES X
S| 158 AR E AR 118108 - 0.08 = R -l
75 | 159 HAB LR 11H108 - 0.08 - iR BRI
S 160 A SLAE 118108 - 0.08 — ik =
=S 161 [FARPY DRLE 11R108 - 0.10 - th =
| 62 R RO OALE 118108 - 0.09 — ik =
163 HAETZLE 11R108 - 0.07 - th =
164 FAKIR T 2AE 118108 - 0.09 = ik B
165| ¥R REWE 11R108 - 0.05 - R FARI7ILk
166 |Jt 78 2 118108 - 0.08 = ik B
167 LRt RN E 118108 - 0.06 - i *
168 | EEA D A& 118108 = 0.08 = R x
169 B/ HNE 11A10H - 0.09 - R B
170 | fteEa A E 118108 = 0.10 = bk B
IANP NN MANH - 0.08 - thR T
172 FNEATAER 11A11H - 0.09 = ik B
N 13| FE1 SR 118108 - 0.07 - g +
174 | LRI AR 118108 - 0.08 = ik B
| 175 1SR 11A10H - 0.07 - R B
Zin | 176 BEAE AR = 0.08 = B 1
LA 177 ETAEAR 1eN1A - 0.09 - ik =
G 78 = S aE 11A11E - 0.07 - s &
X 179 RETHRAE 11A118 - 0.09 - i =1
b | 10/ 2mFEAE 11A118 - 006 - A +
181 FEf&252E 1MA1A - 0.08 - RIS R (FO) =
182 FHE3ELE AR - 0.08 = sk B
183 G452 E 11A118 - 0.08 - hf B
184 FHE15LE 11A118 - 0.08 | s (BRI L
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(Bl oas—R)L/BE
RITE#ESR )2 7 /8L Rk E 2T B A2700

= A AEE AES BESF | BEORE
m 50cm 5cm
185| L B E 118108 - 0.06 - PR x
25 REE TN 118108 - 0.07 - R +
SN 187 mpEmEFRELOBUS 118108 - 0.08 - EEMHE +
N | 188 HiE2B AE 118108 = 0.07 = fh g +
E 189 |#R2 5N E MANA - 0.07 - ik B
| 190 MIEEZLE 11R118 - 0.06 - thf =]
4] 191 EkRELE 118108 - 0.06 - R t
| 192 FEBEET T AR 118108 - 0.06 - thi =1
193 fERIISAE 11A108 - 0.08 - PR B
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